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Rem = off extl: enabled
Oon=2+ Text2: disabled Fen.2 zu
Off=3 13
Start=0
M4
[} E
T B020
B B022 Fenster 2 zu
MI0 Q4
\V’ 2/B049/0 M Q
Point =0
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Blocknummer(Typ) Parameter
BO01(Vor-/Ruckwartszahler) : Rem = off
Oon= 1+
Off=2
Start=0
B002(Vor-/Ruickwartszéhler) : Rem = off
OH=2+
Off=3
Start=0
B003(Vor-/Ruckwartszahler) : Rem = off
on=4+
Off=5
Start=0
B004(Vor-/Riuickwartszéhler) : 8em6 off
oft=7
Start 0
BOO5(Meldetext) : 5”0 1
extl: ena led
Text2: dis lE)Ied
Tlckerglnstellung
- Linel: N
- Line2: N
0.OFF " Hnea: N
; - Lines: N
Meldeziel
0:0FF -LOGO! TD
Q1 10N
Line2.12 I0Status: Q2;0ff="QFF",0n="0QN"
Line3.12 IOStatus: QI:Off="OFF":On="ON"
Line6.2
Line6.19
B0O06(Meldetext) : Prig = 2
?extl nabled

0:0FF
Q4 10N

0:0FF

10N

tatus: 4OFF
tatus: Q3;0

NN
o0
[21%)

Text2: disabled
Tlcéerelnstellung

B0O07(Meldetext) :

Pno 3

Qextl enabled
Text2: dis lE)Ied

Tlckerglnstellung

B009(Vor-/Ruickwartszéhler) :

B012(Ausschaltverzdgerung) :

BOlS%Nochenschaltuhr)
Fenst

Y
B016(Vor-/Ruckwartszéhler) : Bﬁrysi off
Off=6
Start=0
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Blocknummer(Typ)

Parameter

BO17(Meldetext) :

Prip =4
Qun = off
extl: enabled
Text2: disabled
Tickereinstellung
-CBC

B018(Wochenschaltuhr) :

Fenster zu

B023(Ausschaltverzdgerung) : ?grgog +off
B024(StromstoRrelais) : RS = off
B025(Einschaltverzdgerung) : Eg‘rpmi off
B026(StromstoRrelais) : Bg}m — off
B027(Einschaltverzdgerung) : Eg‘rpmi off
B028(StromstoRrelais) : Bg}m = off
B029(Einschaltverzdgerung) : Eg‘rpmi off
B030(Meldetext) : Prio =0

%}un = off

extl: enabled

Text2: disabled

Tickereinstellung
-CB

BC
- Linel: N
- Line2: N
- Line3: N
- Lined: N
- Line5: N
- Line6: N
Meldeziel
-LOGO! TD
B032(Ausschaltverzégerung) : Rem = off
01:00m+
B033(Wischrelais, flankengetriggert) : Rem = off
00:05s+
01:00m
1
BO35(StromstoRrelais) : RS
Rem = off
B036(Einschaltverzégerung) : Rem = off
B54m+
B041(Vor-/Ruckwartszéhler) : 8(3@3: off
off=4
Start=0
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Blocknummer(Typ)

Parameter

B042(Meldetext) :

Prlo 5

off
?extl enabled
Text2: disabled

Tickereinstellung

CBC
- Linel: N
- Line2: N
- Line3: N
- Lined4: N
- Line5:' N
- Line6: N
Meldeziel
Line6.2
Line6.19
B048(StromstoRrelais) : S
Rem = off
B049(Einschaltverzdgerung) : Rem = off
B54s+
BO50(StromstoRrelais) : RS
Rem = off
BO51(Einschaltverzégerung) : Rem = off
B54m+
B054(Analog-MUX) : V1 =1+
V2=0
V3=0
V4=
Point =0
& OGO' TD Funktionstaste) :
ster a
$1 LOGO! TD-Funktionstaste) :
ster zu
11(Eingan
gzu g9)
I ( | Qg) :
I3(Eingan
Fén Zgz 9
I4(Eingar}g)
Fen.2au
I7(Eingang) :
Ze(ntr.gzu 9
I8(Einga
(ntr gaur}g)
91 Ausgan } :
enster
2(Ausgang) :
Eeéstergl zg)
3(Ausgang) :
Raeiea
4(Ausgang) :
ge ster% zg)
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Anschluss

Beschriftung

F1

F2

F3

F4

AM1

M1

M10

M11

M12

M2

M26

LOGO! TD weilRe Hintergrundbeleuchtung

M3

M4

M5

M6

M7

M9

Q1

Q2

Q3

Q4

X1
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